Math 0.
Homework 28.

Problem 1. Find the pattern and finish it.

Problem 2. Solve.

5+[]=8 1+3-2= 8-2-5+6=]|
~ 6= 9-5+0= 3+4-2+1=[]
7 _[1=5 @B+1+2= 4-0+1-7=[]
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Decode a word. Put letters according to their numerical order.

/+0+1-4=[ |wm 2+3+4-8=| |s

4 -1+6-7=|u 8 =8+b=0=].]F

T-3+1+3=|_|Rr 6-4+6-5=| |m
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Problem 3. What shape does not belong to the picture? Circle it.

Problem 4. Solve the problems and color.
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Problem 5. Challenge. Place “+” or “~’signs instead of “*” symbol.
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Problem 6. Create math problem based on the picture.

Cathy has P» P . Kelly l> l> ‘>
Hanna P @ @ @ . How many .

Solution:

(C. | K. | H. \ Answer:
&5

Problem 7. Draw the path that the Piglet can take when he goes to visit the Bear, if
the pine trees should always be to the left side of him and flowers to the right.

Problem 8. Cathy has 4 apples but Kelly has 3 apples more than Cathy. How many
apples does Kelly have?

4 - / Solution:

| 13 Answer:
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Problem 9. Add up to 9. Draw and write your solution.
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Problem 10. Fill out dots in the “windows” according to the arrow operations.
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Problem 11. There are 7 bears in the ZOO. There are 2 less bears than elephants.
How many elephants are in the ZOO?
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Solution:

Answer:
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